MATE 3032assignmentl: sections6.2,6.5

Thelineardensityin arod 6 m longis/x + 1 kg/m,wherex is measuredn metrefrom one
endof therod.Find theaveragalensityof therod.

Exercisel5p.4630f thetext,whereyoureplacethegivent (x) by g(x) = f(x) + 2.

If fis continuousandflf (X) dx = 8,showthatf takesonthevalue2 atleastoncein theinterval
[-13].

For theremainingexercisesplot thefigure.For exercisegl-5, follow theinstructiongor exercises
1-180f 86.2,p.446.For exercised-8,find thevolumeof thedescribedolid S.

4.

o

Regionboundedy x = 2 - y?, x = | ¥|; aboutthey-axis.
Regionboundedoy y = cosx, y = sinx, 0 < x < 1/4; abouttheliney = -1/2.

Any threeof exercised9-30pp.446-447.

Shasbasetheinsideof theellipse9x? + 4y* = 36 . Cross-sectiongerpendiculato they-axis
aresquares.

S hasbasethe regionboundedby the parabolax = 2 - y? andthe y-axis. Cross-sections
perpendiculato they-axisareequilateratriangles.



